BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF CLEARING AND GRUBBING
TO SERVE THE BRANCHES PHASE 1
MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 219
MONTGOMERY COUNTY, TEXAS
SEPTEMBER 11, 2024
LJA ENGINEERING, INC.
S.YOUNG

SEPTEMBER 11, 2024 6969-1441 (9.2)

TOTAL AMOUNT BID BID INCLUDING ALTERNATE ITEM NO. 1

BID INCLUDING ALTERNATE ITEM NO. 2

1) RT ELLIS EXCAVATING INC \$2,258,018.00 \$4,127,118.00 \$2,912,203.00

CALENDAR DAYS 90/120

I, JAMES KUZELKA, P.E., hereby certify these bid tabulations to be true and correct.

BIDDER'S NAME



BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF CLEARING AND GRUBBING TO SERVE THE BRANCHES PHASE 1 MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 219 MONTGOMERY COUNTY, TEXAS SEPTEMBER 11, 2024 LJA ENGINEERING, INC. S.YOUNG **SEPTEMBER 11, 2024** 6969-1441 (9.2)

## 1) RT ELLIS EXCAVATING INC

				I) KI ELLIS EXCAVATING INC		
ITEM		UNIT	QTY	UNIT COST	TOTAL COST	
CLEA	RING AND GRUBBING ITEMS					
1	HEAVY CLEARING AND GRUBBING OF STREET RIGHT-OF-WAY, INCLUDES ROOT RAKING AND BACK DRAGGING, COMPLETE IN PLACE	AC	28.87	\$4,300.00	\$124,141.00	
2	HEAVY CLEARING AND GRUBBING OF COLLECTOR ROAD RIGHT-OF-WAY, INCLUDES ROOT RAKING AND BACK DRAGGING, COMPLETE IN PLACE	AC	2.01	\$4,300.00	\$8,643.00	
3	HEAVY CLEARING AND GRUBBING OF LOTS, INCLUDES ROOT RAKING AND BACK DRAGGING, COMPLETE IN PLACE	AC	94.31	\$4,300.00	\$405,533.00	
4	HEAVY CLEARING AND GRUBBING OF DETENTION BASINS, INCLUDES ROOT RAKING AND BACK DRAGGING, COMPLETE IN PLACE	AC	57.25	\$4,300.00	\$246,175.00	
5	HEAVY CLEARING AND GRUBBING OF RESERVES, INCLUDES ROOT RAKING AND BACK DRAGGING, COMPLETE IN PLACE	AC	4.04	\$4,300.00	\$17,372.00	
6	HEAVY CLEARING AND GRUBBING OF PUBLIC UTILITY EASEMENTS, INCLUDES ROOT RAKING AND BACK DRAGGING, COMPLETE IN PLACE	AC	0.43	\$4,300.00	\$1,849.00	
7	ONSITE BURNING OF CLEARED AND GRUBBED MATERIAL, INCLUDES NECESSARY PERMITS, EXCAVATION OF BURN PIT, BURN PIT CLEANOUT, REMOVE AND OFFSITE DISPOSAL OF ASH AND UNSUITABLE MATERIAL, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, COMPLETE IN PLACE	AC	186.91	\$2,100.00	\$392,511,00	
8	FULL CONSTRUCTION STAKING FOR CLEARING AND GRUBBING, BY LJA SURVEYING (CONTACT GARY NUTTER AT 713-953-5042), COMPLETE IN PLACE	LS	1	\$20,800.00	\$20,800.00	
9	TYPE 2 ROCK FILTER DAMN, COMPLETE IN PLACE	EA	20	\$1,500.00	\$30,000.00	
10	REMOVAL AND OFFSITE DISPOSAL OF EXISTING BOAT, COMPLETE IN PLACE	LS	1	\$2,500.00	\$2,500.00	
CLEARING AND GRUBBING ITEMS SUBTOTAL:					\$1,249,524.00	
DRAI	NAGE ITEMS					
1	SEDIMENTATION TRAP FOR SEDIMENTATION BASIN A, INCLUDES PERFROATED CORRUGATED METAL RISER PIPE, ANTI-VORTEX DEVICE, ANCHOR PLATE, AND OUTFALL PIPE, COMPLETE IN PLACE (SEE SHEET 7 IN PLANS FOR DETAIL)	LS		\$25,000.00	\$25,000.00	
2	SEDIMENTATION TRAP FOR SEDIMENTATION BASIN B1, INCLUDES PERFROATED CORRUGATED METAL RISER PIPE, ANTI-VORTEX DEVICE, ANCHOR PLATE, AND OUTFALL PIPE, COMPLETE IN PLACE (SEE SHEET 8 IN PLANS FOR DETAIL)	LS	1	\$25,000.00	\$25,000.00	
3	SEDIMENTATION TRAP FOR SEDIMENTATION BASIN B2, INCLUDES PERFROATED CORRUGATED METAL RISER PIPE, ANTI-VORTEX DEVICE, ANCHOR PLATE, AND OUTFALL PIPE, COMPLETE IN PLACE (SEE SHEET 8 IN PLANS FOR DETAIL)	LS	1	\$25,000.00	\$25,000.00	
4	SEDIMENTATION TRAP FOR SEDIMENTATION BASIN C, INCLUDES PERFROATED CORRUGATED METAL RISER PIPE, ANTI-VORTEX DEVICE, ANCHOR PLATE, AND OUTFALL PIPE, COMPLETE IN PLACE (SEE SHEET 9 IN PLANS FOR DETAIL)	LS	1	\$25,000.00	\$25,000.00	
DRAINAGE ITEMS SUBTOTAL: \$100,000.00						
EXCAVATION ITEMS						
1	SEDIMENT BASIN EXCAVATION AND HAUL TO FILL AREAS, INCLUDES DEMUCKING, STRIPPING AND STOCKPILE OF STRIPPINGS AND REPLACEMENT OF STRIPPINGS UPON COMPLETION, COMPLETE IN PLACE	CY	64440	\$4.50	\$289,980.00	

FRN F-1386 Page 2 of 4

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF CLEARING AND GRUBBING TO SERVE THE BRANCHES PHASE 1 MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 219 MONTGOMERY COUNTY, TEXAS SEPTEMBER 11, 2024 LJA ENGINEERING, INC. S.YOUNG **SEPTEMBER 11, 2024** 6969-1441 (9.2)

## 1) RT ELLIS EXCAVATING INC

ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	
2	PLACEMENT, GRADING AND COMPACTION (95% STANDARD PROCTOR DENSITY) OF EXCAVATED SEDIMENT BASIN MATERIAL FOR FILL AREAS WITHIN SEDIMENT BASIN AREA AS SHOWN ON THE PLANS, INCLUDES FILL AREA DRAINAGE SWALES, STRIPPING OF FILL AREAS, STOCKPILE OF STRIPPINGS AND REPLACEMENT OF STRIPPINGS UPON COMPLETION, COMPLETE INPLACE	CY	30735	\$2.00	\$61,470.00	
3	HAUL EXCAVATED MATERIAL TO DESIGNATED STOCKPILE SITE, USING ON ROAD TRUCKS, (0.5 - 1MILE), INCLUDES STRIPPING, STOCKPILING AND REAPPLICATION OF STRIPPINGS, COMPLETE IN PLACE	CY	33705	\$10.00	\$337,050.00	
4	DRAINAGE SWALES, AS DIRECTED BY ENGINEER, COMPLETE IN PLACE	LF	6000	\$3.00	\$18,000.00	
EXCAVATION ITEMS SUBTOTAL:					\$706,500.00	
MISC	ELLANOUS ITEMS				•	
1	STANDARD DEDUCT FOR STREET CLEANING (AS DIRECTED BY THE OWNER), COMPLETE IN PLACE	HR	0	-\$125.00	\$0.00	
2	STANDARD DEDUCT FOR DAMAGE TO WETLANDS FENCING BY THE CONTRACTOR (AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	0	-\$25.00	\$0.00	
3	STANDARD DEDUCT FOR DAMAGE TO A TREE MARKED FOR PRESERVATION, (AS DIRECTED BY THE OWNER), COMPLETE IN PLACE	EA	0	-\$1,500.00	\$0.00	
4	STABILIZED CONSTRUCTION EXIT, SWMHCA SPECIFICATION NO. 4711, (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	EA	2	\$2,500.00	\$5,000.00	
5	REINFORCED FILTER FABRIC FENCING, (ONLY AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	LF	100	\$2.75	\$275.00	
6	STORM WATER POLLUTION PREVENTION PLAN, INCLUDES CONTRACTOR'S BOOKLET NOI AND NOT, COMPLETE IN PLACE	LS	1	\$2,500.00	\$2,500.00	
7	30 CY DUMPSTER CONTAINER FOR HAUL OFF OF TRASH, COMPLETE IN PLACE	EA	2	\$1,250.00	\$2,500.00	
8	CONTRACTOR TO INSTALL SITE DRAINAGE AS NECESSARY TO COMPLETE ROOT RAKING OF CLEARED AREA (ONLY AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	LS	1	\$5,000.00	\$5,000.00	
9	ADDITIONAL DRAINAGE SWALES WITH V BOTTOM (0.5' TO 1.5' DEPTH) (ONLY AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	LF	500	\$4.00	\$2,000.00	
10	ADDITIONAL DRAINAGE SWALES WITH V BOTTOM (1.5' TO 2.5' DEPTH) (ONLY AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	LF	500	\$6.00	\$3,000.00	
11	DEMUCK OF CLEARED AREAS AS NEEDED TO PASS ROOT RAKING INSPECTION, DEMUCKED MATERIAL TO BE SPREAD ON SITE TO DRY AND THEN REAPPLIED TO CLEARED AREAS (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	CY	3000	\$4.50	\$13,500.00	
12	BROADCAST SEEDING, INCLUDES FERLIZING AND WATERING (ONLY AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	AC	186.91	\$900.00	\$168,219.00	
MISCELLANOUS ITEMS SUBTOTAL: \$201,994.00						

FRN F-1386 Page 3 of 4

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

TOTAL AMOUNT INCLUDING ALTERNATE ITEM NO. 2

CONSTRUCTION OF CLEARING AND GRUBBING
TO SERVE THE BRANCHES PHASE 1
MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 219
MONTGOMERY COUNTY, TEXAS
SEPTEMBER 11, 2024
LJA ENGINEERING, INC.
S.YOUNG
SEPTEMBER 11, 2024
6969-1441 (9.2)

\$2,912,203.00

1) RT ELLIS EXCAVATING INC

				1) RT ELLIS EXCAVATING INC		
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	
ALTERNATE ITEM NO. 1						
	ERIAL FROM CLEARING AND GRUBBING IN LIEU ND GRUBBING ITEM NO. 7, COMPLETE IN PLACE	AC	186.91	\$10,000.00	\$1,869,100.00	
ALTERNATE ITEM NO.	.1 SUBTOTAL:				\$1,869,100.00	
ALTERNATE ITEM NO. 2						
	ND HAUL OFF MATERIAL FROM CLEARING AND GRUBBING ARING AND GRUBBING ITEM NO. 7, COMPLETE IN PLACE	AC	186.91	\$3,500.00	\$654,185.00	
ALTERNATE ITEM NO. 2 SUBTOTAL:					\$654,185.00	
BIDDING SUMMARY						
SUBTOTAL CLEARING	AND GRUBBING ITEMS				\$1,249,524.00	
SUBTOTAL DRAINAGE	EITEMS				\$100,000.00	
SUBTOTAL EXCAVATI	ON ITEMS				\$706,500.00	
SUBTOTAL MISCELLA	NOUS ITEMS				\$201,994.00	
TOTAL AMOUNT BASE	E BID				\$2,258,018.00	
ALTERNATE ITEM NO.	<u>.1</u>					
TOTAL AMOUNT BASE	BID				\$2,258,018.00	
SUBTOTAL ALTERNAT	TE ITEM NO. 1				\$1,869,100.00	
TOTAL AMOUNT INCL	UDING ALTERNATE ITEM NO. 1				\$4,127,118.00	
ALTERNATE ITEM NO. 2						
TOTAL AMOUNT BASE	BID				\$2,258,018.00	
SUBTOTAL ALTERNAT		· ·		\$654,185.00		

FRN F-1386 LJA Engineering, Inc.